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œ ‰

Ε

Ε

Ε

œœ
3

≈ œœ œœ œœ œœ ≈ œœ∀ ,

œ
3

≈ œ œ œ œ ≈ œ∀ ,

Œ ‰ ιœ= œ
−œ∀

=

Œ ‰ ιœ= œ∀
œœ

3

≈ œœ œœ œœ œœ ≈ œœ,

Œ ‰ ιœ= œ

ε

Ε

Ε

Εε

ε
ε

ε

ε

1

Fanfare

O.Kaspar



%

%

%

%

>

>

72

72

72

72

72

72

32

32

32

32

32

32

72

72

72

72

72

72

32

32

32

32

32

32

72

72

72

72

72

72

Tpt.

Cors

Tbn/Tu.

4 ιœœ œœ∀ ,
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ιœ œ∀−œ
Ιœ œ

œ

‰ œ= ιœ œ œ− œ− œ−œα Œ Ó
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Ιœœαα , œœαα ιœœ œœ Œ

∑

∑

∑

sim.
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‰ œ ιœ œ œ− œ− œ−

œ=
θœ ≈ ‰ Ó

Ιœœαα , œœαα ιœœ œœ Œ

∑
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∑

‰ œ ιœ œ ŒÓ Œ ‰ Ιœ
=

œ=
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Ιœ œ ‰
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œ=
ιœ ‰ ‰ œ− ‰ œ−

Ιœœαα , œœαα ιœœ œœ Œ
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∑
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ιœ œ ιœ œ œ œ œϖ=
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Œ œα œ Ιœ œα Ιœα

Œ œα œ ιœ œα ιœα
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3.

∑
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ιœ œ ιœ œ œ œ œϖ
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Œ œα œ Ιœ œα Ιœα

Œ œα œ ιœ œα ιœα
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